Test bank                             Chapter five

1. In the New Zealand economy today the difference between M1 and M3 definitions of the money supply

a. has been eliminated by the introduction of a more realistic definition of M3.

b. is primarily that M3 includes unexercised overdraft authorities whereas M1 does not.

c. is that M1 consists of liquid monetary assets which are excluded from the M3 definition.

d. is that M3 includes less liquid monetary assets which are excluded from the M1 definition.

2. Suppose customers of the registered banks transfer funds from transaction account deposits to investment accounts. Which of the following is true?

a. M1 and M3 fall.

b. M3 increases

c. M1 falls and M3 stays the same.

d. There is a rise in M3 offset by a fall in M1.

3. M3:

a. includes all deposits held by the public at banks and other M3 institutions.
b. is a precise measure of the public’s potential spending power.

c. is added to M1 to give total money supply.

d. is able to be controlled directly by the Reserve Bank.

4. Suppose that the banks decide that they have been far to cautious in their lending policies and decide to reduce their desired ratio of reserves to deposits by half. This may have all but one of the following effects:

a. The banks increase lending.

b. The reserves of the banks fall by half.
c. The interest rate falls.

d. The money supply increases.

5. If the banks operate a 20% reserve ratio, and reserves are increased by a deposit of new money of $50 million, the potential growth in private sector credit would be:

a. $250 million.

b. $200 million

c. $150 million

d. $100 million
6. Which of the following does not cause a reduction in the reserves of the registered banks? (assume a freely floating exchange rate and all other factors remaining constant).

a. Provisional tax payments are made by the self-employed.

b. The government raises GST.

c. Export earnings fall.

d. Notes are withdrawn from the banks to finance drug deals in cash.
7. Government securities, sold by the Reserve Bank to banks
a. may offset the money supply effects of budget deficit spending.
b. increase banks’  settlement cash

c. reduce banks’ holdings of treasury bills.
d. Are never necessary if the government is running budget surpluses 
8. Settlement Cash is:

a. Part of M1.

b. Needed when the public pay tax to the government.
c. Notes and coin on issue but not in bank tills.

d. Only used when banks settle up with each other at the end of the day.

9. Suppose customers of the Registered Banks increase their use of overdraft facilities to finance a spending spree before a rise in GST. Which one of the following is not a likely consequence?

a. Deposits at the registered banks will increase.

b. Registered Bank reserves will decline somewhat due to leakages.

c. On the asset side of the Registered Banks’ balance sheet, advances to the public increase.

d. The banks will feel more comfortable about their prudential reserves.
10. The Official Cash Rate
a. Detemrines the rate paid on money deposited at the Reserve Bank 
b. Is the primary monetary policy tool 
c. Impacts on other interest rates such as the 90 day rate 
d. All of the above 
